HROEISTG~ A X — RIKIKKE

22853 KBORLFTEL A K= £ 2 4 — (25m) 1/2
HH : 2025%F6 A 15H (H)
No. 40 B+ 100mE B # Eiigg 5178
<€ 65~69m% > 2fm® 107,81
JBhL B4 il Kk B
1 Fil oz HEF ATy 1/ 6 1:33.32 ( 0.89)
No. 40 B¥ 100mB H#2 # R 55.73
& 60~64% > aEs 1ot 10
JBhL B4 i@ K& B R
1 YOR ER KSCTH 1/ 4 1:03.80 ( 0.68)
No.40 BF 100mBHAE R 524% 54.32
& 55~59%% > ans  1:00 65
B K4 Bl Kig B A
1 R FESC KSCTH 1/5 1:21.15 ( )
2 Wl B KSC#+x 1/ 3 1:22.38 ( 0.89)
No. 40 BBF 100mB Hfz MR 5149
& 50~54%% > ek 5550
B K4 il Kig B A
1 2 GiR KS CE=)I 2/ 3 59. 89 ( 0.78)
2 ELl K S TEHTF 2/ 6 1:02.17 (0.72)
3 EiE ER S TEHFF 2/ 2 1:09.48 ( 0.66)
No. 40 B+ 100mEH# WREE  48.68
& 40~44% > AURCr
IBhL K4 i@ K& B R
1 i HHTSS 2/ 7 1:12.00 ( 0.99)
No. 40 BF 100mE B2 1t R 524 47.70
& 35~30% > FpRr
BRI K4 i@ Kig B A
1 JRH  RfE S T =5 2/ 4 55.97 ( 0.67)
2 fmH S S« RNTF A 2/ 5 56. 08 ( 0.64)
No.40 BF 100mBEHE HRER 47.29
& 30~34% > ek 550
BRI K4 i@ Kig B A
1 =B S TKIE 2/ 1 1:03.87 (0.72)
No. 40 B+ 100mE B HREGE 4749
< 25~208 » xamR 5160
BRI B4 g Kig B A
1 AR kA KS C#F~x 3/ 5 59. 68 ( 0.67)
2 (B ATy v 3/ 6 1:00.09 (0.72)
HOHEE . 6HI15H 15:03



HROEISTG~ A X — RIKIKKE
S KRR ELH AR — Y & > & — (25m) 2/2
WA ;202546 H15H (H)

No. 40 55+ 100mE HE#

< 18~248% > ramR 5106
B K4 i@ K B M
1 16 & —JHS S 3/ 4 55.07 ( 0.67)
2 Bl KA KSCTH 3/ 3 1:00.57 ( 0.66)
3 Eip BB KSCTH 3/ 2 1:03.85 (0.71)
4w it KSCTH 3/ 7 1:04.74 ( 0.82)
5 |k BEK S TKIE 3/ 1 1:18.89 ( 0.75)

HAOHME: 6H15H 15:03



